2x-3=1

+3 +3
2x+2=4+2
Stnpdify The Equation
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Verifying Solutions
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Point A

Point B

o
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Tx=9-9=0 Tx-10=0

?X%@%’ﬂ 7% =10 x=10/7

Combine Like-TerE:?

.
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4(x +2) =12

4x+8=12 4(x+2)+4=12+4

4x=12-8 Xx+2=3

4x =4

3(2a + 3) = 12




3(2a + 3) = 12 \u

3(2a+3)+3=12+3
2+ 3 =4
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3x +6=2(x-1) \\
3x+6=2x-2 :

3X-2x=-2-6
x=-8

N

3x+6=2(x-1) .
3(:8) + 6= 2(-8- 1)
24 +6=-16-2

-18 =-18

Jx=-8
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Solve for x and
verify your answer:

1.5(2x + 4) = 12

Solve for x and
verify your answer:

1.5(2x +4)=12 1.5(2  +4)=12

3x +6=12 1.5(4 + 4) = 12

3x=6 OERP:

= 12 =12
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